ConcoursMustang.com 1964-66 Remote Control Trunk Release

POSITION RELEASE ASSY. BASE AT FORWARD EDGE OF CENTER

SCUFF PLATE MOUNTITKS SCREW ENBOSSMENT. USE AS
gﬂ',;; :”m,'%;,’ BiA. HOLES AND INSTALL (3 — TEMPLATE AND DRILL (4] 125 DIA, HOLES. ég?g’l 5/8 LG
DISASSEMBLE LOCK ASSY, 8Y 2546152 BRACKET AND SCREW SCREWS (#8-15 x 5/8 LG.) e 4) REQD.
DEPRESSING PLUNGER IN LOCK AND WASHER ASSY. (PART OF RELEASE ASSY.) e

POSITION AGAINST 6446148 CLAMP AND
TIGHTEN SCREW.

v /\?fm SCREWS.

" a5 % 5/8 LG

CYLINOER HOUSING. TURN KEY
AND REMQVE CYLINDER, INSYALI//
NEW LOCK EXTENSION (2543283

-

AND REASSEMBLE,

FLATTEN EDGE OF
2» SCUFF PLATE
. BETWEEN SCREWS

e
SCUFF PLATE
(REF,)

0.00 70 £rop;

SCUFF PLATE BEF)

LFOS]TION 2546148 CLAMP (PART OF RELEASE
ASSY.) USE AS TEMPLATE AND DRILL (3}
L1285 DIA, HOLES. TAKE UP SLACK IN BOWDEN

CABLE TO LOCK ASSY, TIGHTEN THUMB SCREW

) LOGK CYUINDER HOUSING REF,) -
2543283 EXTENSION
LOCK CYLINDER ®REF,)
DRILE (3) 125 DIA. HOLES AND INSTALL MAKE HOTCH IN BEAD OF SCUFF
(3) CLIPS ANG (3) PLATE, ROUTE CABLE UNDER B£AD
SOREWS (68-15 ¢ 5/8 16,3 REABWARD FROM THIS POINT.
\/ "]
-
\\ P
- POSITION RELEASE ASSY. BASE
"1:;-«‘ AS SHOWN, USE AS TEMPLATE
niee AN DRILL (4,125 DIA, HOLES
| MAKE "T" SLIT N CARFET TO
HOLE 1 RECEIVE BASE OR MOUNT DIRECTLY
\ DRILL .125 DIA.'HOLE AND INSTALL e A
E ]
~_ SCREW (#8-15 « 5/8 LG} - SCREW
A REQD. @8+}3 X 5/8 LONG)

RELEASE ASSY,
25432400

TO0SEN TRiM PANEL ﬁ:]/

AND SCUFF PLATE AND
ROVTE CABLE AS SHOWN

——
2-DOOR HARDTOP MODEL

INSTALLATION INSTRUCTICNS 1TCSLIT N

CARPET (OPT, )~
. LOCATE RELEASE ASSEMBLY BASE AND DRILL MOUNTING HOLES,
DO NDT FASTEN, .
REMOVE REAR SEAE Ecusnmns. VIEW Z CARPET
CONVERTIBLE: REMOVE AND REWORK SCUFF PLATE AS
DRILL (2) 125 DIA, HOLES AND INSTALL SHOWN. REMOVE REAR QUARTER TRIM PANEL LOWER SCREW.
(2ICLIPS AND (21 HARDYOP: LOOSEN DOOR SCUFF PLATE AND REAR QUARTER
SCREWS t48-15 X 5/8 L5.) FOR HARDTOP MODEL TRIM PANEL, MAKE "T" SLIT |N CARPET (0PT.).
ONLY. ROUTE CABLE AS SHOWN. B0 NOT INSTALL CLAMPS.
NOTE: ROUTE CABLE UNDER CONVERTIBLE TOP ALTER LUGGAGE COMPARTMENT DOOR LOCK AS SHOWN,
STORAGE BOOT ON CONVERTIBLE MODELS. . ATTACH CABLE TO LUGGAGE COMPARTMENT DOOR LOCK ASSEMBLY.
. FASTEN CLAMP TO LUGGAGE COMPARTMENT DODR.
ABJUST CABLE AND TIGHTEN THUME SCREW, ATTACH

[T ¥

CABLE LOCATING BRACKET AGAINST GLAMP, INSTALL CABLE
RETAINING CLIP IN LUGGAGE COMPARTMENT POOR, .S, 1314
£

; Akl 7
5. REPLACE SEAT CUSMONS. TR PANEL AND 000R INSTALLATION - KIT = REMOTE CONTROL
SGUFF PLATE. ® LUGGAGE COMPARTMENT DOOR LOCK
COPYRIGHT © 1964 FORD MOTOR COMPANY RE LEASE MUSTANG

FORD

Some documents have been altered in size to fit the format. No information was deleted or altered in the process.




